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d1.99-41. (T1-I) Usietr, 2016
B.Sc. (Part-I) Examination, 2016

CHEMISTRY

feda we-u=
Second Paper

(Organic/Chenistry)

T - 3 He qofl& : 50

Time : Three Houtrs Maximum Marks : 50

qie . U [ Afard ® qur ule TS W U gue
®T T B Y, TR I U B I 0|
gd U B AP e R &ifha § | ag-wey
gedl & SR BT AfEdd A 200 sreE gy
QTEH-ITNIY U9l & IR B AfBaH AT 500 v
2 |

Note: Answer Question No. 1 which is compulsory

and four more questions, selecting one question
P.TO.
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from each unit. Marks for each question are

indicated in the right-hand margin. The answers

to short answer type questions should not

exceed 200 words and the answers to long

answer type questions should not exceed 500

words.

PrfoRad @ org SR ARTT | 1x10=10

Write short answers of the following :

(a) FrfeRad § & QAfed TEl &7
0.0
: e
Which one is not aromatic in the following;:
000
H )

(b) D Tob FaR S £?
CH2 = CHZ ) ch —s CR2 >
RCH=CH,, RCH=CHR

Which alkene is most stable?

CH, =CH,, R,C=CR,,
- RCH=CH,, RCH=CHR
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(©)

(d)

(e)

(f)

(3)

FyfarRad # R oro] @ fRega el Ld el
87

Cl,, CO,, CCl,, CHCl,

Which of the following molecule has a non-
zero dipole moment?

Cl,, CO,, CCl,, CHCI,4

Fy=rifrd & @ eIl afba difie °
Which of the following is anoptically active

compund?

CI)H
CH,-CH-COOH, “CHC(I,,

CH,CH,COQH,.~~ CH,CH,OH

dfdes &/ CH, —~CHOH-COOH uefdfa
R o+

ST waggadt,  geragydr,

USRS FHEgad),  Hedrayed |

Lactic Acid shows-

Geometrical isomerism, Tautomerism,

optical isomerism, Metamerism.

T @GRl (HTHITeE) Eifha SR |

Draw conformation of Ethane.

(g) arfafsan gob afdmg-

PT.O.
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Complete the reaction -

HSO 4\ 7
CHZ—‘ CH:"‘ CH{_ICHz s
IOH OH
(h) THRIT &-

Gammexane 1s -
Hexachloro ethane, D.D.T.,
T.N.T., hexachloro cyclohexane.

G) freifed @1 39! ded! g8 Igdl B MR
R GRerd BT |
CH,COOH, HCOOH, C1CH,COOH

Arrange the following in the order of their
increasing acidity.
CH,COOH, HCOOH, C1CH,COOH
) < BT & Te-
What happens when -

2-bromobutane (2-5THI=ICH) is treated with
Alco KOH

$PIS-UH / UNIT-I

WD R8P 5p?2 S BT o SugeT IeTeR
a%maqufﬁﬁmugsp&spﬁ’w' il
P & "
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What is Hybridisation? Describe sp’

hybridisati(m with ex

ample. How does it differ

from sp & sp” hybridisation?

arerar / OR

feugofy ferf¥gu- 54+5=10

Write notes on -

(a)

(b)

(a)

(b)

BISUR PIASLI
Hyper Conjugation

eSO ECEC)
Hydrogen Bonding

sHTS-Tedd/ UNIT-II

TSRE e @ UGG FHEIadT BT auid
TN | 5+5

Discuss the optical isomerism of Tartaric

Acid.
Rrifi & R & S SR FaiRa AR |

Assign R & S configuration of the following;:

FOOH
HO-C'-H NH,

(i) 14_ELOH (ii) H—?~C00H

COOH COOCH,

P.T.0.
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(a)

(b)

(@)

(b)

(6)

341 / OR
WSTARIT &1 A9 e (G i)
aie dwh @ amen afyw wend 7 e
®IfSTu | 5

H5+5=10
Chair conformation of cyclohexane is more
stable than Boat conformation. Explain.
1-0fdet wgadeddrt & vl et fofao
duT g7 Yenfaed w1 wui- i |

Write the possible conformation of
I-methyl cycloheXane and discuss their

stabilities:

SPHIE=qAIT / UNIT-11I

VAT & Frofeitawor o fafafy fafan ) s
Write the mechanism of dehydration of
Ethahol.

ARG fram ok ausl fGrafaf &
HIETETI ARAT PHfoTu | 5
Explain Markownikoff's rule and its

mechanism with example.

31erdr / OR
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(@)

(b)

(a)

(b)

(7)

RV UCRIC GRS @ 1, 4 ArmeTd AfAfHAT
& venfire @1 qoiE ST | 5
Discuss the stabilities of 1, 4 addition
reaction in conjugated Butadiene.

gRifeeliet @Y 3refdl & quiq BT | 5

Discuss the acidity of Acetylene.

sare-aqel / UNIT-IV

HROT WE BHIfSTC- 5
S srafp Sl vl S-gadiafeT Bl 2|
Give suitable reason-

Halogens are ortho & para directing though
they, are deactivating in nature.

Sl & FpIFTERT d fharfafer \aHES |
Give the mechanism of Sulfonation of

Benzene. 5

3erdT / OR

ftcraifere wftreru i @ &2 SN
A 2 B, TR e qe T
(TRIY) BT av Tfeel Rellge B AR TR BT |

P.T.0.
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What are nucleophilic substitution reaction?
Discuss the mechanism, Stereochemistry and

Kinetics of SN* reaction on the basis of alkyl

halides. 10
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